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C800UB0-1 Eduqas GCSE French Component 2 Higher Tier

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1478 1.9 1.6 5 37.9 100
2 1478 2.2 1.3 5 44.8 100
3 1478 3.2 1.3 5 63.5 100
4 1478 2.1 0.9 4 53.3 100
5 1478 2.6 0.8 4 64.9 100
6 1478 1.6 1.2 5 31.8 100
7 1477 2.1 1.3 5 41.9 99.9
8 1478 2.8 1.6 6 47.4 100
9 1478 1.3 1.2 6 22.4 100
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question 1 [5] 


Louis : Ce n’est pas juste, je n’ai pas le droit de sortir ce weekend. Mes parents sont 
trop sévères. 


Bernadette : Mais c’est simple, Louis.  Tu devrais ranger ta chambre et ils te permettront 
de sortir. 


Louis : Toi, tu as de la chance.  Tu t’entends bien avec tes parents. 


Bernadette : Oui, ils sont sympas mais ils ne m’achètent pas les vêtements que j’aime. 


Louis : Dommage ! Il faut chercher un petit boulot et après tu pourras acheter tes 
propres vêtements.  


Bernadette : Bon, peut-être. 


(a) What are the two young people talking about? Write one detail.


(their) parents/problems OR issues with parents/parents too strict (1) 


(b) Complete the table below with the correct information.


Issue Solution 
Louis not allowed out (1) tidy your room (1) 


Bernadette parents won’t buy her 
clothes she likes (1) 


buy own clothes (1) 
get a part-time job  
(Any 1)       





		GCSE MARKING SCHEME
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Sticky Note

Question 1 
(a) 0
(b) (Louis) 2
(b) (Bernadette) 2

Total 4/5



Sticky Note

Question 1 (a) incorrect attempt at identifying the overall message of the transcript which is "parents".



Sticky Note

Question 1 (b) (Louis) both answers are correct.

Question 1 (b) (Bernadette) both answers are correct.












Sticky Note

Question 1
(a) 1
(b) (Louis) 1
(b) (Bernadette) 1

Total 3/5




Sticky Note

Question 1 (a) The answer "their parents" correctly identifies the overall message of the transcript.



Sticky Note

Question 1 (b) (Louis) 1 mark is awarded for "he is not allowed out this weekend" but the second mark cannot be awarded as the answer is "tidy his room".
Question 1 (b) (Bernadette) 1 mark is awarded for "she could buy her own clothes". "She can't wear the clothes she likes" is incorrect. The correct answer should be variations of "her parents won't buy her clothes she likes".












Sticky Note

Question 1 (a) incorrect attempt at identifying the overall message of the transcript.



Sticky Note

Question 1
(b) (Louis) 1 mark for "strict parents won't let him go out at the weekend". "Talk to his parents" is incorrect.
(b) (Bernadette) incorrect answers. The issue should read "parents won't buy the clothes which she likes". The solution should read "buy own clothes" or "get a part-time job".



Sticky Note

Question 1

(a) 0
(b) (Louis) 1
(b) (Bernadette) 0

Total 1/5












Question 1 [5]


Listen to the conversation between Louis and Bernadette. Answer the questions in English.


(a) What are the two young people talking about? Write one detail. [1]


(b) Complete the table below with the correct information.


Issue Solution


Louis


[1] [1]


Bernadette


[1] [1]





















Question 7 [5] 


Listen to this conversation between Maude and David. Complete the grids below in English. 


Section 1 


David's first fear 


His other anxiety 


Section 2 


Maude's advice. Write two details. 
(ito~~~ q~~~~cr r1i 
(ii) e.,sp.R-U:.Q..il~J-\o. .. JY\.o..th.s [11 


h.t V) l Yvi ~ u, 
David's problem in maths hAA UCA.SS. [1] 
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Question 7 [5] 


Section 1 


Maude : Ton premier jour au lycée. Tu es inquiet, David ? 


David : Oui, ce bâtiment est immense. J’ai peur de m’y perdre. 


Maude : Bof ! Je te guiderai. Ce n’est pas si grand que ça. 


David : Bon, aussi, on m’a dit que le travail est très difficile.  C’est vrai ? 


Maude : Oui, c’est un peu difficile, mais c’est normal, nous sommes au lycée.  Tu vas 
t’habituer. 


Section 2 


David : Comment trouves-tu les profs ? 


Maude : Les profs sont sympas … mais tu dois poser des questions si tu ne 
comprends pas, surtout en maths. 


David : Dans cette matière, c’est moi le pire de la classe ! Pour les sciences, je ne 
suis pas mauvais, mais je préfère les langues. Le CDI est bon ici ? 


Maude : Oui, tu y trouveras beaucoup d’ordinateurs avec des applis espagnoles. 


Section 1 


David's first fear getting lost (1) 


His other anxiety difficult work/hard work (1) 


Section 2 


Maude's advice. Write two details. (i) ask (questions)/ask (for help) (1) 


(ii) if you don’t understand (1) 


David’s problem in maths worst in the class/bottom of the class (1)





		GCSE MARKING SCHEME

		INTRODUCTION










Sticky Note

Question 7 
Section 1 (part 1) 0
Section 1 (part 2) 1
Section 2 (part 1) 2
Section 2 (part 2) 1

Total 4/5



Sticky Note

Question 7 Section 1 (part 1) This answer cannot be awarded a mark because the first part "the big building" is not David's first fear, "getting lost" is. It is therefore a 1-1 = 0 scenario.

Question 7 Section 1 (part 2) this is the correct answer and is awarded 1 mark.

Question 7 Section 2 (part 1) "Ask questions if you don't understand" is worth 2 marks, however, "find and use the computers" seems like another piece of advice due to the imperatives when in fact the transcript does not use imperatives but simply makes a statement "you will find lots of computers with Spanish Apps". We therefore have to take one mark away for giving an incorrect piece of information in addition to the two correct pieces of information. 2-1=1

Question 7 Section 2 (part 2) "He is the worst in the class" is correct for 1 mark.












Question 7 [5] 


Listen to this conversation between Maude and David. Complete the grids below in English. 


Section 1 


David's first fear 


His other anxiety 


Section 2 


Maude's advice. Write two details. 
(ito~~~ q~~~~cr r1i 
(ii) e.,sp.R-U:.Q..il~J-\o. .. JY\.o..th.s [11 


h.t V) l Yvi ~ u, 
David's problem in maths hAA UCA.SS. [1] 



Sticky Note

Question 7
Section 1 (part 1) 1
Section 1 (part 2) 1
Section 2 (part 1) 2
Section 2 (part 2) 1

Total 5/5



Sticky Note

Question 7 Section 1 (part 1) "getting lost" is the correct answer.

Question 7 Section 1 (part 2) "Work might be too hard" is the correct answer.

Question 7 Section 2 (part 1) "ask a question if you don't understand" is awarded 2 marks. "especially in maths" can be disregarded as it does say "surtout en maths" in the transcript and so does not contradict the transcript in any way.

Question 7 Section 2 (part 2) "He is the worst in the class" is the correct answer.
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Sticky Note

Question 7

Section 1 (i) 0
Section 1 (ii) 0
Section 2 (i) and (ii) 0
Section 2 (iii) 0

Total 
0/5



Sticky Note

Question 7 Section 1 part 1: Lots of candidates upon hearing "bâtiment", incorrectly thought David's fear was bats or birds.
Question 7 Section 1 part 2: Incorrect. The candidate almost got this correct but crossed out the part about the work being "hard"



Sticky Note

Question 7 Section 2 part 1 - both answers incorrect.
Question 7 Section 2 part 2 - incorrect. He is the "worst in the class" not "scared of the class".












Question 7 [5]


Listen to this conversation between Maude and David. Complete the grids below in English. 


Section 1


David’s first fear [1]


His other anxiety [1]


Maude’s advice. Write two details.
(i) . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . [1]


(ii) . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . [1]


David’s problem in maths [1]


Section 2







































Question 9 [6] 


Section 1 


Emily : Super, je vais bientôt partir en Écosse. 


Georges : Tu pars comment ? 


Emily : Mes parents partent en voiture.   Moi, je vais prendre l’avion. 


Georges : Moi, je choisis toujours l'auto.  J'y suis à l'aise.  Par exemple, je peux même 
m'allonger sur la banquette arrière si je veux. 


Emily : Ouf, entre Bristol et Aberdeen, ça fait plus de huit cents kilomètres.  Avec les 
embouteillages, et puis les arrêts pour acheter de l'essence, ça fait deux jours 
de trajet. 


Section 2 


Georges : Franchement, je te plains.  Quand je voyage en avion, il n’y a jamais assez 
d’espace. Tu ferais mieux de prendre le train. 


Emily : Pas besoin. On est plus sûr dans un avion que dans tout autre moyen de 
transport. Pour moi, les vacances commenceront dès que j’aurai fait ma 
valise. 


Section 1 


(a) (it’s/he feels) comfortable (1) 


(b) (i) traffic jams/blockages/bottlenecks/gridlock (1) (2) 


(ii) (stopping to/for) buy(ing) petrol/fuel (1)


Section 2 


(c) any 2 of: (2) 


(i) (he) feels sorry for Emily (1)


(ii) (he) doesn’t like it (1)


(iii) not enough room/space (1)


(iv) better to take the train (1)


(d) when suitcase is packed/when she has finished packing (1) 
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Sticky Note

Question 9 
Section 1
(a)      1
(b) (i)  0
     (ii) 0

Section 2
(c) (i)   1
     (ii)  0
(d)       0

Total 2/6






Sticky Note

Question 9 Section 1 (a) "comfortable" is the correct answer.



Sticky Note

Question 9 Section 1 (b) (i) incorrect and (ii) not attempted.



Sticky Note

Question 9 Section 2 (c) (i) "he doesn't like it" is a variation on the correct answer and can be deduced from the transcript "Franchement je te plains...tu ferais mieux de prendre le train".

(ii) incorrect



Sticky Note

Question 9 Section 2 (d) Incorrect.












Sticky Note

Question 9 Section 1 
(a) 1
(b) (i) 1
(b) (ii) 0
Question 9 Section 2
(c) (i) 1
(c) (ii) 1
(d) 0

Total 4/6
 



Sticky Note

Question 9 Section 1 (a) correct answer
(b) (i) "there will be traffic jams" is correct.
(b) (ii) incorrect



Sticky Note

Question 9 Section 2 (c) (i) correct
(ii) correct



Sticky Note

Question 9 Section 2 (d) "when she has her car hire" is incorrect"












Sticky Note

Question 9 Section 1
(a) 1
(b) (i) 0
(b) (ii) 0

Question 9 Section 2
(c) (i) 1
(c) (ii) 1
(d) 0

Total 3/6



Sticky Note

Question 9 Section 1(a) "he is more comfortable" is correct.



Sticky Note

Question 9 Section 1
(b) (i) incorrect
(b) (ii) incorrect




Sticky Note

Question 9 Section 2 (c) (i) "there is never enough space" is correct.
(ii) "Travelling by train is better" is correct.



Sticky Note

Question 9 Section 2 (d) incorrect.












Question 9 [6]


Listen to this conversation between Georges and Emily. Answer the questions in English.


Section 1


(a) Why does Georges prefer car travel? [1]


(b) How will the journey of Emily’s parents be slowed down? Write two details. [2]


(i) . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(ii) . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


Section 2


(c) What does Georges think about travelling by plane? Write two details. [2]


(i) . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(ii) . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(d) What will signal the start of Emily’s holiday? [1]











